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ENVIRONMENTAL 
CHEMISTRY 

1. uhps nks dFku fn, x, gS % 

 dFku I  : iSjkehVj ^^tSojklk;fud vkWDlhtu ekax 

(BOD)** dk eku ty ds thoksa ds thou ds fy, 

egRoiw.kZ gSA 

 dFku II : BOD dk b"Vre eku gS 6.5 ppm.  

 mijksDr dFkuksa ds fy, uhps fn;s x;s fodYiksa esa 

ls lokZf/kd lgh mÙkj dk pquko dhft, % 

 (1) dFku I vlR; gS ijUrq dFku II lR; gSA 

 (2) nksuksa dFku I rFkk dFku II lR; gSA 

 (3) dFku I lR; gS ijUrq dFku II vlR; gSA 

 (4) nksuksa dFku I rFkk dFku II vlR; gSA 

2. uhps nks dFku fn, x, gSa % 

 dFku I  :  vipk;d /kwe dksgjs ds fuekZ.k esa 

vkWDlhtu dk ,d vij:i egRoiw.kZ e/;orhZ gSA 

 dFku II  :  xSlsa] tSls fd ukbVªkstu rFkk lYQj ds 

vkWDlkbM tks {kksHkeaMy esa mifLFkr gksrh gS izdk'k 

jklk;fud /kwe dksgjs ds fuekZ.k esa ;ksxnku djrh 

gSA 

 mijksDr dFkuksa ds fy, uhps fn;s x;s fodYiksa esa 

ls lgh mÙkj dk pquko dhft, % 

 (1) nksuksa dFku I rFkk dFku II vlR; gSaA 

 (2) dFku I lR; gS ijUrq dFku II vlR; gSA 

 (3) nksuksa dFku I rFkk II lR; gSaA 

 (4) dFku I vlR; gS ijUrq dFku II lR; gSA 

3. fuEufyf[kr esa ls fdl ls vfHkfØ;k djds ty 

CO mRiUu ugha djrk gS : 

 (1) CO2  (2) C 

 (3) CH4  (4) C3H8 

4. uhps nks dFku fn, x, gSa : 

 dFku I : lkekU;r;k o"kkZ ds ty dh pH~5.6 

gksrh gSA  

 dFku II : o"kkZ ds ty dh cwan dh pH ;fn 5.6 ls 

uhps fxj tk; rks mls vEyo"kkZ dgrs gSaA  

 mijksDr dFkuksa ds fy, fuEufyf[kr fodYiksa esa ls 

lgh mÙkj pqfu, : 

 (1) dFku I lR; gS ijUrq dFku II vlR; gS  

 (2) nksuksa dFku I rFkk dFku II vlR; gSaA  

 (3) dFku I vlR; gS ijUrq dFku II lR; gS 

 (4) nksuksa dFku I rFkk dFku II lR; gS 

5. {kksHkeaMy es vkstksu dh mifLFkfr %  

 (1) gekjh UV fofdj.kksa ls lqj{kk djrh gSA 

 (2) gekjh X-fdj.k fofdj.kksa ls lqj{kk djrh gSA 

 (3) gekjh gfjr x g izHkko ls lqj{kk djrh gSA  

 (4) izdk'k jklk;fud /kwe dksgjk mRié djrh gSA 

6. fnu ds  le; O3 dh mifLFkfr esa ftl izdkj dk 

iznw"k.k c<+rk gS] og gS : 

 (1) vipk;h /kwi dksgjk 

 (2) vkWDlhdkjd /kwi dksgjk 

 (3) HkweaMyh; rkio f) 

 (4) vEy o"kkZ 

7. xzhugkml xSl@xSlsa gS@gSa : 

 (A) dkcZu MkbvkDlkbM  

 (B) vkDlhtu 

 (C) ty ok"i   

 (D) esFkSu xSl 

 fn, x, fodYiksa esa ls lokZf/kd mfpr mÙkj pqfu, %  

 (1) dsoy (A) rFkk (C)  

 (2) dsoy (A) 

 (3) dsoy (A), (C) rFkk (D) 

 (4) dsoy (A) rFkk (B)  

8. vipk;d /kwe dksgjk feJ.k gS % 

 (1) /kwe, dksgjk rFkk O3 dkA 

 (2) /kwe, dksgjk rFkk SO2 dkA 

 (3) /kwe, dksgjk rFkk CH2=CH–CHO dkA 

 (4) /kwe, dksgjk rFkk N2O3 dkA 
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9. ;wVªksfQds'ku ds fy, fuEufyf[kr dFkuksa esa ls 

dkSu lk/ls dkj.k xyr gS/gSa ? 

 (A) moZjdksa dk vR;kf/kd mi;ksxA 

 (B) viektZdksa dk vR;kf/kd mi;ksxA 

 (C) tyk'k;ksa esa ikS/kksa dh ?kuh vkcknhA 

 (D) tyk'k;ksa esa iks"kdksa dk vHkko tks ikS/kksa ds 

fodkl dks jksdrk gSA 

 uhps fn;s fodYiksa esa ls lokZf/kd mfpr mÙkj 

pqfu,A 

 (1) dsoy (A)  

 (2) dsoy (C)  

 (3) dsoy (B) rFkk (D)  

 (4) dsoy (D)  

10. dFku tks lR; gS % 

 (A) esFkSu HkweaMyh; rki o f) rFkk /kwe dksgjk 

nksuksa nsrh gSA 

 (B) /kku ds {ks=k ls esFkSu mRiUu djrs gSaA 

 (C) CO2 dh vis{kk esFkSu ,d izcy HkweaMyh; rki 

o f) djus okyh xSl gSA 

 (D) esFkSu vipk;d /kwe dksgjs dk fgLlk gSA 

 uhps fn, fodYiksa esa ls lokZf/kd mfpr mÙkj dks pqfu,  

 (1) dsoy (A), (B), (C) (2) dsoy (A) rFkk (B) 

 (3) dsoy (B), (C), (D) (4) dsoy (A), (B), (D) 

11. uhps nks dFku fn,  % 

 dFku I : Å"eh; 'kfDr la;a=k ls vtSo&fuEuhdj.k 

vif'k"V mRié gksrh gSA  

 dFku II  :  tSo&fuEuhd r gksus okys viektZd 

;wVªksfQds'ku djrs gSaA 

 mijksDr dFkuksa ds fy, uhps fn, fodYiksa esa ls 

lokZf/kd mfpr mÙkj gS% 

 (1) dFku I rFkk dFku  II vlR; gSaA 

 (2) dFku I lR; gS ijUrq dFku II vlR; gaSA 

 (3) dFku I vlR; gS ijUrq dFku II lR; gaSA 

 (4) dFku I rFkk  dFku II lR; gaSA 

12. nSfud thou eas gfjr jlk;u ftlds mi;ksx esa gS] 

og gS : 

 (1) Dyksjhu] isij ds fojatu esa 

 (2) dsoy ty dk izpqj ek=kk esa diM+k /kksus ds 

fy, mi;ksx 

 (3) VsVªkDyksjks,Fkhu] ykWUMªh ds fy,A 

 (4) æfor CO2, diM+ksa dh futZy /kqykbZ ds fy,A 

13. fuEufyf[kr xSlksa esa ls dkSu lh ,d ftlds fo"k; 

esa izdk'kla'ys"k.k dks ean djus dh fjiksVZ gS] og 

gS\ 

 (1)  CO  (2) CFCs  
 (3) CO2  (4) NO2 

14. ty ftlesa vf/kd O2 ?kqyh gS] og gS &  

 (1) mcyrk ty (2) 80°C ij ty 

 (3) iznwf"kr ty (4) 4°C ij ty 

15. uhps nks dFku fn;s gSa : 

 dFku I : Dyksjks&¶yksjks dkcZu n '; ÅtkZ {ks=k ds 

fofdj.k ls fo?kfVr gksdj] ok;qeaMy esa Dyksjhu 

xSl  eqDr  djrs  gSa]  tks  fd  lerki  eaMy  dh  

vkstksu ls vfHkfØ;k djrh gSA 

 dFku II : ok;qeaMyh; vkstksu] ukbfVªd vkWDlkbM 

ls vfHkfØ;k dj ukbVªkstu rFkk vkWDlhtu xSlksa 

dks mRié djrh gSa] tks ok;qeaMy esa fey tkrh gSaA 

 uhps fn, x;s fodYiksa esa ls mijksDr dFkuksa ds 

fy, lgh mÙkj dks pqfu, : 

 (1) dFku I xyr gS rFkk dFku II lgh gSA 

 (2) nksuksa dFku I rFkk dFku II xyr gSaA 

 (3) dFku I lgh gS rFkk dFku II xyr gSA 

 (4) nksuksa dFku I rFkk dFku II lgh gSaA 

16. fuEufyf[kr esa ls dkSu lk ,d dFku lgh ugha  

gS ? 

 (1) ;wVªksfQds'ku tyk'k; ds iznwf"kr gksus dk lwpdgSA  

 (2) ty esa ?kqfyr vkWDlhtu dh 6 ppm ls de 

lkUnzrk eNfy;kas dk fodkl jksd nsrh gSA  

  (3) ;wVªksfQds'ku ty esa vkWDlhtu dk Lrj c<+k 

nsrk gSA 

 (4) ;wVªksfQds'ku ls vok;oh; ifjfLFkfr;ka mRiUu 

gksrh gSA  
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17. uhps nks dFku fn, gSA ,d dk uke vfHkdFku (A) 

rFkk nwljs dk dkj.k (R) gSA 

 vfHkdFku (A) : izdk'k jklk;fud /kqze&dksgjk jcj 

esa njkj mRiUu djrk gSA  

 dkj.k (R) : izdk'k jklk;fud /kwe&dksgjk esa vkstksu] 

ukbfVªd vkWDlkbM+] ,Øksyhu] QkesZfYMgkbM+ ,oa 

ijkWDlh,lhfVy ukbVªsV bls vkWDlhdkjd cukrs gSA  

 uhps fn, fodYiksa esa ls lokZf/kd mi;qDr mÙkj  

pqusa &  

 (1) nksuksa (A) ,oa (R) lgh gSa rFkk (A) dh lgh 

O;k[;k (R) ugha gSA 

 (2) (A) lgh ugh gS ijarq (R) lgh gSA  

 (3) (A) lgh gS ijarq (R) lgh ugha gSA 

 (4) nksuksa (A) ,oa (R) lgh gSa rFkk (A) dh lgh 

O;k[;k (R) gSA 

18. vfr U;wu vfHkfØ;k'khy xSl 'A' lerkieaMy esa 

igq¡prh gSA ;g vfo"kkDr rFkk vToyu'khy gS 

ijUrq lerkieaMy esa mifLFkr ijkcSaxuh fofdj.kksa 

ls fo?kfVr gks tkrh gSA izkjaHk esa xSl 'A' ls 

fojfpr gksus okys e/;orhZ gSa: 

 (1) 
· ·

+ 2Cl O CF Cl  

 (2) 
· ·

+ 3ClO CH  

 (3) 
· ·

+3 2C H CF Cl  

 (4) 
· ·

+ 2Cl CF Cl  

19. lerkieaMy esa vkst+ksu ds vf/kdrj fojpu esa 

lgk;d gksrh gS : 

 (1) dkWfLed fdj.ksa (2) g–fdj.ksa 

 (3) ijkcSaxuh fofdj.k (4) n '; fofdj.k 

20. fuEufyf[kr esa ls dkSu lk ,d HkqDr'ks"k U;wfDy;j 

b±/ku  ls  IywVksfu;e  dks  lokZf/kd  i  Fkd  djus  ds  

fy, mi;ksx fd;k tkrk gS\ 

 (1) ClF3  (2) O2F2 

 (3) I2O5  (4) BrO3 

21. 'kq) ty (A) rFkk iznwf"kr ty (B) ds fy, BOD 

ds izR;kf'kr eku (ppm esa) Øe'k% gSa : 

 (1) A > 50, B < 27 

 (2) A > 25, B < 17 

 (3) A < 5, B > 17 

 (4) A > 15, B > 47 

22. uhps fn, x, fdl BOD eku ds vk/kkj ij ty 

ds uewus dks lokZf/kd LoPN dgk tk,xk \ 

 (1) 11 ppm  (2) 15 ppm 

 (3) 3 ppm  (4) 21 ppm 
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SOLUTION 

1. Official Ans. by NTA (3) 

Sol. Clean water would have BOD value of less than 

5 ppm whereas highly polluted water could 

have a BOD value of 17 ppm or more. 

2. Official Ans. by NTA (1) 

Sol. Reducing smog is a mixture of smoke, fog and 

sulphur dioxide. 

 Tropospheric pollutants such as hydrocarbon 

and nitrogen oxide contirbute to the formation 

of photochemical smog. 

3. Official Ans. by NTA (1) 

Sol. CO2 + H2O ® H2CO3 

 C + H2O(steam) ® CO + H2 

  
 Thus CO2 does not produce CO. 

4. Official Ans. by NTA (4) 

Sol. Both statements are correct. 

 Normally rain water has pH of 5.6 due to the 

presence of H+ ions formed by the reaction of 

rain water with carbon dioxide present in the 

atmosphere. 

5. Official Ans. by NTA (4) 

Sol. The presence of ozone in troposphere generates 

photochemical smog. 

6. Official Ans. by NTA (2) 

Sol. In presence of ozone(O3), oxidising smog gets 

increased during the day time because 

automobiles and factories produce main 

components of the photochemcial smog 

(oxidising smog) results from the action of 

sunlight on unsaturated hydrocarbon and 

nitrogen oxide. 

 Ozone is strong oxidising agent and can react 

with the unburnt hydrocarbons in the polluted 

air to produce chemicals. 

7. Official Ans. by NTA (3) 

Sol. The green house gases are CO2,  H2O(vapour) & 

CH4.  

8. Official Ans. by NTA (2) 

Sol. Reducing or classical smog is the combination 

of smoke, fog and SO2. 

9. Official Ans. by NTA (4) 

Sol. The process in which nutrient enriched water 

bodies support a dense plant population which 

kills animal life by depriving it of oxygen and 

results in subsequent loss of biodiversity is 

known as eutrophication. 

10. Official Ans. by NTA (1) 

Sol. Methane leads to both global warming & 

photochemical smog. 

 Methane is generated in large amounts from 

paddy fields. 

 CO2 can be absorbed by photosynthesis, or by 

formation of acid rain etc., while no such 

activities are there for methane.  

 Hence methane is stronger global warming gas 

than CH4. 

 Methane is not a part of reducing smog. 

11. Official Ans. by NTA (4) 

Sol. Non-biodegradable wastes are generated by the 

thermal power plants which produces fly ash. 

 Detergents which are biodegradable causes 

problem called eutrophication which kills 

animal life by deprieving it of oxygen. 

12. Official Ans. by NTA (4) 

Sol. Chlorine gas was used earlier for bleaching 

paper. These days, hydrogen peroxide (H2O2) 

with suitable catalyst. 

Tetra chlroroethene (Cl2C=CCl2) was earlier 

used as solvent for dry cleaning. The compound 

contaminates the ground water and is also a 

suspected carcinogen. Replacement of 

halogenated solvent by liquid CO2 will result in 

less harm togroundwater. 

 Hence given statement (4) is correct. 

13. Official Ans. by NTA (4) 

Sol. According to NCERT only NO2 from the given 

options can retard the photosynthesis process in 

plants. 

4 2 2

3 8 2 2

CH H O CO 3H both reactions are carried out at
C H H O 3CO H 1270K temp. with Ni catalyst

+ ® + ù
ú+ ® + û
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14. Official Ans. by NTA (4) 
Sol. On heating concentration of O2 in water 

decreases. So boiling water and water at 80°C 

having less O2 concentration. Polluted water 

also having less O2 concentration. So water at 

4°C having maximum O2 concentration. 

15. Official Ans. by NTA (2) 
Sol. Statement (1) 
 CFCs are broken down by powerful UV 

radiation and releases chlorine free radical 

which reacts with ozone and start chain 

reaction. 

 UV
2 2(g) (g) 2 (g)CF Cl Cl CF Cl

· ·

¾¾® +  

 (g) 3(g) (g) 2(g)Cl O ClO O
· ·

+ ® +  

 (g ) (g) (g) 2(g )ClO O Cl O
· ·

+ ® +  

 Statement (2) 
 Atmosphere ozone reacts with nitric oxide to 

produce nitrogen dioxide and oxygen. 

 NO(g) + O3(g) ® NO2(g) + O2(g) 

16. Official Ans. by NTA (3) 
Sol. Eutrophication leads to decrease in oxygen level 

of water.  

 3rd statement is incorrect 

17. Official Ans. by NTA (4) 
Sol. Photochemical smog causes cracking of rubber, the 

common component of photochemical smog are 

ozone, nitric oxide, acrolein, formaldehyde and 

peroxyacetyle nitrate (PAN). 

18. Official Ans. by NTA (4) 
Sol. In stratosphere CFCs get broken down by 

powerful UV radiations releasing Cl·  

 U.V.
2 2 2CF Cl (g) Cl (g) CF Cl(g)· ·¾¾¾® +  

19. Official Ans. by NTA (3) 
Sol. Ozone in the stratosphere is a product of UV 

radiations acting on dioxygen (O2) molecules. 

 UV
2O (g) O(g) O(g)¾¾↑ ∗  

 
UV

2 3O(g) O (g) O (g)∗ ����
����  

 

20. Official Ans. by NTA (2) 
Sol. O2F2 oxidises plutonium to PuF6 and the 

reaction is used in removing plutonium as PuF6 

from spent nuclear fuel. 
21. Official Ans. by NTA (3) 
Sol. BOD values of clean water (A) is less than 5 

ppm 

 So             A < 5 

 BOD values of polluted water (B is greater than 

17 ppm 

 So            B > 17 

 So Ans. is 3 
22. Official Ans. by NTA (3) 
Sol. Clean water could have BOD value of less than  

5 ppm whereas highly polluted water could 

have a BOD value of 17 ppm or more. 

 


